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Electrician PY MCQ | Chapter 29: Digital Electronics 371 seldgif4a | FRTST + English | Last Update: Oct 2023

29.1 Logic Gates @ifsidb Ied

1. What is the number of bits in a byte? dTgeqela
faca=t d@ar fddt 3me? (MPMKVVCL TA 2017)
(A) 4

(B) 8

(©) 12

(D) 16

Ans: B

4 Bits = 1 Nibble

8 Bits =1Byte

1024 Bytes = 1Kilobyte

1024 Kilobytes =1 Me@byte

1024 Megabytes -<Q53|gabyte

1024 Glgabyteﬁl@l Terabyte

O
2.A gr\c(l}sof four bits is called? IR

1%01@%? (ALP JAN, 2019)
,S@QNlbble fiaet
%(B) Binary ST
(C) Byte dTsc
(D) Bit feie
Ans :(A)

C)O

mﬁw
4

<

Q

cjb&

3. How many bits are there in a nibble? ThT
fAaeed fasdt faeq sraara? (RSMSSB Instructor
2019)

(A)1

(B) 2

(C) 4

(D) 8

Ans: (C)

4. A byte is a group .dlscel _______
HHE 3712. (ISRO TR\@NPURAM TECH 2015)

A

A
C;\‘E’LETRICIAN - 2019)

(D) 16 bits
Ans: (C)

5. How many digits are there in binary numerical
system? TR T&THD WoTeitHed fbdl 37 3mea?
(BECIL NMRC ELECTRICIAN - 2019)
(A)1

(B) 10

(©) 2

(D)o

Ans\“(C)

/\Q)

P 6. The maximum decimal numb%h%presented by 4
o 2
PHTCT GRATI TAT _

/\
P

bits in the two-digit system
yuTTeiHed 4 foeagr a2

3. (RSMSSB |nstuct@on19)
(R)4 S

(B).7 cif

(C)15

(D) 16

Ans: (C)

7. Which number system has base 16? 0TI BHIb
JUTTeiTHED 9 16 3T8? (RSMSSB Instructor 2019)

(A) Decimal g2riar

(B) Octal 318

(C) Binary SII3t

(D) Hexadecimal eaaTsfaHeT

Ans: (D)

8. In digital system1byte = ____

srqrgéﬂmm-elﬁ'd: ____faem. (BECIL NJ}Z@C

0.)

(A) 2 bits ,\q, ,\qP‘ (A) 1 A

(B) 4 bits QQ’ @QQ (B) 2 @QC}

Q8 C) 8

(@) 5&5 QA © Q%
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eEFiTEh (Q‘( Subscribe YouTube C ~ Page | 1
%@ '[:’S'E:]-\ml; ﬁ?ﬂ%ﬂﬂ;d ” Google Play 0 @ Open Mind Guruji



\3 X
%@6\ > CSTA Launchpad < Techni%aﬁompetitive and

Add: Gurunagar Teacher colony, Bhadrawati (MH) Website: cstalaunchpad.in Mob. No. +91 7249787277

d} .
00&

\'d

Academic classes %Tﬁolytechnic, Engineering)

D
4

Electrician PY MCQ | Chapter 06: Capacitor T&MRA | 7131 + English | Last Update: Sep 2023

76. The units of capacitance are Farand and the
units of Capacitive reactance are____. ®Ufde~gdt
Tehdb Uh{s 3TE 3MfOT Hafdfees sfifsared (Ramwmea)
Thdh ____ 3Te.

(A) Farad B

(B) Ohm 3igH

(C) Ohm / Farad 3{1€H/UxTS

(D) ohm/m 3i1gH /.

Ans: B

77. The graph of capacitive reactance (X.) versus

79. The inductive reactance value at the resonance

RIS’ 3/ d. (TH-25 Aug, 2018)

(A) resistance of the circuit fdsean UfdeR
(B) resistance of the coil ®igerel UfdHR
(C) Capacitive Reactance &wufffées R3tae~a
(D) inductive reactance W 31fifdsar

Ans: C

80. If the supply frequency is decreased, then the

frequency () is _____@ufafee ferae (X,) faee itor reactance_____ RasT IRARAN\(Fraa)
IRARAT (f) &1 YR STeaTy, Pafdes= wfafpar___ _,ch\(_lf(TH-zs
(A) Rectangulatual/perbola HTIATPdt SR Tel q/vb Aug, 2018) q/bg)
(B) Sine W m's:raa o (A) Remains The Same THM
O
(©) St@kgﬁt Line TR ST \\Q (B) Doubles goe @
(D)\@ cle ades \@Q (C) Becomes Half mrfg%ﬁ
R ,b(QQ (D).Becomes Thre es diF daT glal
- (E)Is Increased FAur Times dR Te aTaeft 33
Ans: B
81. The dielectric material used in variable
capacitors is generally ______. @Read Huffemed
TR STUTR STetfdges Qrft amm=aa: ____ 39d.
(TH-23 Aug, 2018)
(A) Polypropylene TieityifgetT
X, = Straight Line (B) Air T
X¢ = Rectangular hyperbola (C) Ceramic f&fi®
78. Find th f - Hypirl()ba f a 50uF (D) Teflon i
. Find the capacitive reactance of a 50u .
o P (E) Polystyrene TifaieiRA
capacitor if connected to a 230V, 50Hz supply? Ans: B
o ns:
230V, 50Hz Ra&IRAt 515 50uF Bufdet
Pufdfie ufdafear (ﬁawaq) 2ffe? A\ A\
(A) 63.6 /\‘1/ q;\‘b CS\‘L
AP A A
(B) 336 2 s P
() 36.6 Q’\ o o
(D) 3. 62@ 4@0 4@0
Ans: ?8 < <
e AP D
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Electrician PY MCQ | Chapter 10: Transformer | 2f&5 | 12181 + English | Last Update: Sep 2023

34. A sinusoidal flux 0.02 Wb links with 55 turns of a
transformer secondary. What is the rms value of the
induced emf in the secondary, if the supply
frequency is 50 Hz ? IIAA185cT Feid 0.02 Wb
SIRAWIAR &I 55 JosUTiATed silsdl. JRaoT TRART
(fTara=T) 50 Hz 3/ e gZH Hed URd emf o rms

Hed fobdt 31me? (ESE 2021)
(A) 250 V

(B) 244.2 V

(C) 220.26 V

(D) 210 V

Ans:B . q’,\/\

Erms =4.44 N q>n}\fb

Erms = 4.44 ",\QLB% X 55 x 50 = 2442 V /\q/b?
O O
O O
35. A tm‘&-phase, 50 Hz, 11000/550V delta@@r,

66k\gg core type transformer operates {@% a flux
.05 Wb. Find the EMF per turn. , 50 Hz,

11000/550V SeTT/ER, 66kVA aﬁm%ﬂm;ﬂmﬁ?

0.05 Wb T FoTdiTE &I deal. Ufd e EMF 2iTer,

(UPPCL Tech 2021)

(A)17.26 V

(B) NV

©1av

(D) 18.24 V

Ans:B

E/N=4.44 ¢ f

9

36. A sinusoidal flux of 100 mWb (maximum) links
with 10 turns of a transformer secondary. Calculate
the turns value of the induced emf in the
secondary. Supply frequency is 50 Hz. 100 mWb

(B) 444 V

(C) 666 V

(D) 888V

Ans: A
E=4.44N ¢mf

37. A transformer has a 200-turn primary winding. If
a voltage of 240V is supplied across the windings
and the maximum flux is 5 mWb, what will be the
frequency of the supplied voltage? STIBIHIHED
200-TSUTRAYTIHTY ATSAfETT 3. SR 240V O @leest

i 1 HEd) QRaTeT] Tefl 37107 HITfSiAporere 5
A b 3¢, W RAAT @leesTal awﬂ‘%gcﬁ (e~
P (fSmariat ) faset 3@er? (UPPCL Tg\gt@om)
(A) 54 Hz (@3

O
(B) 84 Hz 4®
(C) 91 Hz \QQ
(D) 78 Hz X
%’0

Ans: A

E=4.44N ¢m f

38. A one-phase transformer has 400 and 1000 turns
in primary and secondary, respectively. The cross-
sectional area of the core is 60 cm~2. The primary of
the transformer is connected to a supply of one-
phase, 50 Hz, 500 V. Determine the secondary

voltage of the transformer. ThI-U31 gTROHBIHIHERN
AT 311{0T ATeATHBHE 1A 400 31T{0T 1000 Tos0t
3IATd. BRA BIY-JFMA &F 60 HT2 37Te.
SIRIBIHED UTAfAc Th-3T, 50 Hz, 500 V T
RaGTRf sisete 3Te. SAhIA g @lees fAfsa
B, (SSC JE 2020)

(Trcta sTa) TR ZTRAThIER G2 10 (A{é\)ov q//\'\
amﬂ@aaﬁga’r.zﬁémmﬁﬁrﬁaemfwamw '\?/B}) 1250 V ,\CS\
o S R

TOTT T, W{}TRHRHT (el 50 Hz 312, (ISROV () 125V AV
vssc 2025 | (p)sooov oY
(A) 2%2\$ Q4® Ans:B Q4®

Q% Q% N
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Electrician PY MCQ | Chapter 12: DC Generator |

gt 51 | #=18T + English | Last Update: Oct 2023

3) Types of DC Generator

1. Which of the following factors does not cause a
drop in the terminal voltage of a shunt generator?

AT BIVTT TeHIHS i SR efial
EleesTHEA B¢ 81d ATel? (UPPCL Tech 2021)

(A) Armature Reaction 3THzR ufaféar

(B) Armature Reactance 31THzR RUde~q

(C) Decrease In Field Current Hhies BicHEA TC
(D) Armature Resistance 3THTR Ufd®R

Ans:B

(B) armature resistance is high. 3R Ufaerdmar
SR 314 d.

(C) Field resistance is above critical resistance WHics
gfaier TR ufdeRIaen @ 3me

(D) the prime mover is moving above the set speed
UTSH He&R ¢ MY @R 5771d 3T

Ans:C

5. Self-excited DC What is the need for residual

A\ magfhetism in a generator? Y-3df3id @W
2. Series winding qérator, shunt generator and gt SR Hﬂﬁ[&'?‘jﬂ@@&ﬂ (NEERE S
compound/bq&ngenerator are examples of ____. q/bgb HAETH) BRI IR 31Te? q/b9

DC generg;@:}. ATfeTeRT aTsfE SRR, < TR

8 E7T SR B ____ St SRt R@ﬂ\mﬁ?{
(Hs\g? ALM 2020)

,gé) Self Excited Td: 3cTfed @Q

(B) Permanent Magnet WRﬁ?:I,EIEB

(C) Separately excited a4t 3af5id

(D) Configuration IITMAT

Ans: A

3. In a self-excited DC generator, the residual
magnet is available at _____
TR CS) SRt STACRHER, 31afle e __
3.

(A) Field Winding ™ics ges0T (aTsfem)
(B) Carbon Brush @Te §2[

(C) Commutator BRICR

(D) Armature Winding 3TTHeR ge50T (aT3f3m)
Ans: A

_ 39 3ucTe

(A) building up voltage

(B) to reduce the field cg@@ht Hiee e BHT
BIUTS

(C).toreduce arm%&?e current 3THTR & BHT
BRUITHTSL

(D) maintaining a constant output voltage f®@R

HT3YC EleesT IRAUYTATST
Ans: A
6.1f _______ _, then DC will stop the generator

voltage generation process. ________ 3™, DC
TR @leest fAffdt ufsar efede. (UPPCL Technician
2021)

(A) The value of the field resistance becomes less
than the critical value. Hles ¥fsie~Ta g 11HR
HeATa &1 BH Eld.

(B) The value of the field resistance increases to

more than the critical value. ties Isite~ad 1o

(L«“ T e ST ared. "
4. What is the reag‘bw for the failure of the D.C. c'\ The value of the field resistance\®as low as the
generator to erate voltage? ﬂﬁﬂaﬁ@és@?‘ value of the armature resistan e~
fmfor 7 EsRa HROT B MR? & wmmw@@wm
(A) Ic%?&e%rush contact I sII TUb QA® Q{
N4 N A9
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Electrician PY MCQ | Chapter 04: Electrical Circuit DC | Saifdgeret dfdbe St | TRT8T + English | Last Update: Aug 2023

88. 10 million ohms is equal to which of the following?
10 GRIGTEf 3R WTeiteTddh! BIuTeT THTA 37Ta?
(A) 100M ohm

91. Find the length of a copper wire of cross-sectional
area 1.7sg-mm, which has a resistance of 0.3(). The
resistivity of copper is given as 0.017 micro-ohm meter.

(B) 10M ohm HIg-AF[d TRAT 1.75q-mm T BIR dra! et 2,
(©) 1M ohm I UfddR 0.3Q) 3178, diedret AfaRieddr 0.017 HIIhI-
(D) 01M ohm 31 Hiex Ul féett 5iTd.
Ans- (B) (A) 60m
10 Million =10,000,000 (C) 30m
(B) 20m
89. The insulation resistance of a 20 km long (D) 40m
underground cable is 8 mega ohm. Insulation resistance Ans: C
for similar cable of 10 kmis ____
20 bt efet=aT liﬁjﬁfﬁ@ﬂﬂT SIORM UfaRE 8 A 31 92.,'(}\e resistance of a length of wire is 4 Q,\What will be
318,10 ﬁ;mwmﬁ\é&éqﬁ g—.ﬂﬁqmqﬁ-@y 3R @g’resistance of another wire of the sa@eqfnaterial and
(A) 16 megaohrr;]/bg’ q/bfb cross-section which is three times Io@er? A=A
(B) 32 mega O/\ ATefaT UfIBR 4 O 3R, THE 3TOT ST -daerean
(C) 4 megiohm S AT ATRE VTR P AR e it srder?
(D) 2 egachm Q* (A) 120 Q*
g & @0 &
Cp%sulation resistance is inversely prop@(ﬁonal to length (©) 60 %Q’
of the cable. 32 Wfae bererear afetear g ywmoma | (D) 240
Ans: A

e,

RZ_ll

93. What is the resistance of a silicon slab of length 0.2

90. If a wire of resistance R is stretched to double its
length, what will be its resistance? fd®R R It aR fazit
diel g BUFTHTST dvTedt R ATl UfddR fobdt 3@er?
(A)4R

c¢m and cross-sectional area 1cm~2?

(Specific resistance of silicon = 55000-Qcm ).

0.2 qHt wrieitan fafcierT Teieer 3foT Big-da2Fe TRar 1
Qt~2 a1 i et 31me?

(Fafeiaiar fafre ufder = 55000-Qcm ).

57

(B) 3R (A) 11000
(2R (B) 27500
(D)R (C) 18000
(E)R/2 (D) 25000
Ans- (A) Ans: A
As the length of wire gets doubled, the cross-sectional
area will become halfl\plf/\i/'}s previous value because /\q’/\/\ ,\"1/,\/\
volume of wire remgins constant. CIICIGICIEER] c;\‘b q/\‘b
W@ﬁm@@%@mﬁavﬁmm ﬂnﬂwwg\q? ,\q}‘
FAF e N aTaRe) e fRaR e, O L

~ RN R
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¢ N N
CSTA Launchpad S Subscribe YouTube Charfel Page | 11

GETITON
» Google Play

© O0pen Mind Guruji

© 0pen Mind Guruji



%‘z’@Q

s . X PN
> CSTA Launchpad < Technléaﬁsompetltlve and Academic classes %Tﬁolytechnlc, Engineering)
Add: Gurunagar Teacher colony, Bhadrawati (MH) Website: cstalaunchpad.in Mob. No. +91 7249787277

0.
00@90
’z

Electrician PY MCQ | Chapter 07: Cell and Battery §e 31Tf07 &/edt | FR1a1 + English | Last Update: Sep 2023

5) Battery Charging

1. The level of charging in a battery can be found

(A) by measuring voltage @eesT AISH
(B) By looking at the terminals of the battery dcdd

During discharge, the positive electrode is a
cathode, and the negative electrode is an anode.
When the battery is discharging in the external
circuit, the electrode to which the electrons flow is
the positive electrode. 3T G-I, HUTTHB

effia qe SAENS TP F2lS 3T, 30T FONHG TS v TS
(C) none of these ATAHT ATET TR, el dTgl Afberned) dedt 3wt 8l 3/, deeT
(D) on measuring the density of the electrolyte SAdTISAEA ST UdTE gdl al ulfsiféce saidgis
Sﬁaﬂmwmﬁﬁm 3114/?‘{?( e\
Ans: D Q;\"l/ (6\(1/ q;\’l/

b&o‘/’\ b§5\4 Which of the following will be g;ié hydro meter
2. During chafgé of lead acid battery________ _O/\‘l/ reading of a fully charged Iea&’gg/id battery? qof =15
ofts @ EE o Y| sciewn ots U et st e A wreftericht
(A) Aq“o\de Turns Dark Red TAIS 118G &Tel BT 3AA? Q"\
(gﬁg'node Turns Dark Yellow GAlg gal (A) 1.2 ®Q\®

&) Anode Turns White TAIS ieT gt (B) 1.5 ®

(D) Anode Turns Dark Chocolate Brown TS 713G (©) 1M
didbetct aufd<t glal (D) 1.26
Ans: D Ans: D
during charging the lead cathode remain as lead
but the lead anode gets converted into lead 5. During discharge of lead acid battery _____ RIS
peroxide, dark chocolaty in color. AT A S | tfis ded=nfmsicr=T
$IS ol FEULT AEd! i oS THIS offs RAeNTssAEd | (A) only the anode is converted to PbSO4 | %t
BUTdRd gldl, 718¢ diberct Imd TAIZd PbSO4 Hed BUIAR &ld

3. When the battery is discharging in an external
circuit, the electrode to which electrons flow is

. qTgI Afdbened) SiegT §edt TSt 81d 3d, deaT

(B) both anode and cathode are converted into

PbSO4 | TAIE 31Ul b1 g€l PbSO4 HEd BUidRd
glard
(C) only cathode is converted into PbSO4 | thth

TAGEIS T SAdRAEd VaTfea grarar _____ 3al $2ASd PbSO4 HED BUICK Bl

(A) Positive Electrode\wsﬁaﬂg (DWboth anode and cathode are convept\‘ad into

(B) Negative E|ec;\:g’\a|qé SEUTICH® SIS bS04 | TS 3fUT Beis et szighqﬁzﬁmmﬁa

g\ S

(C) Neutral El%b%de AR SRS /\‘1?‘ Frara s

(D) Cathoe)e}}iaﬂ’s' OQ Ans: B el

Ans: A4® 4® As the battery charges, {1 Sulfuric acid reacts with
\Q,Q \Q,Q the lead in the anodg@?\d cathode to produce lead
K R R
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Electrician PY MCQ | Chapter 05: Magnetism (Inductor) eidbcd (3Rb) | ARTSI + English | Last Update: Aug 2023

5) Rules of Electromagnet fdg[d dadbra A

1. Self induced electromotive force is

N e

(A) induced emf due to current flow in the adjacent coil

Hiy Bisereic faga yareme IRd emf
(B) EMF due to its inductance in the coil ®rsaTefle

SRS EMF

(C) voltage drop across the coil ®igel 3HleligT &leesl 31T

(B) By Index Finger dsflgR

(C) By Thumb 37T

(D) By Circle Of Fingers dleicar dges™
Ans:C

5. By which rule the direction of induced EMF can be
identified? TN fAAWITAR ARd EMF =t f2rm i@t

(D) current flowing in the coil BISATHED ATEUTRT 313 2Adbd?
ﬁ'gauaﬁ: (A) First Faraday's law of electromagnetic induction
Ans:B SARIHATEP SSFRIATIT Ufder wRrs faH

(B /&\’écond Faraday's law of eIectromagnetJ(\nduction

2. What is the indu
movement of a

MF obtained due to the

53

uctor in a stationary magnetic field i

K mmmw@mﬁm«%\%
D(C) Lenz's law s f7aw 59

called? f@RRA SFTHE eI EleTdlei e EITE}/\ (D) Fleming's right hand rule u@mmmﬁm

mﬁwﬁg@ﬁewwmm? @ Ans : D @

(A) StQTl\caIIy Induced Emf | &fédmeit ARa Eme Q*

z(gl&lf Induced Emf | TS 9Rd Emf Q\® 6. Fleming's right han Sl is used to find out ______
¢4&) Dynamically Induced Emf Iﬁ?ﬂ?@ﬁ(eﬂﬁﬂ Emf TAfHTAIT 357 fm___ 2NEOgTTST ITIReT

(D) Rotational Induced Emf | E0f7 ARd Emf Sral.

Ans : C

3. Fleming's left hand rule is applicable to which of the
following? TATHITET ST ETATIT AW WTeilertd! BoTe
P 31e?

(A) on a current carrying conductor placed in wood
cTIhSTd SaeiedT fag]d YaTe aTg AUTRIT dhSeeier

(B) on a current carrying conductor placed in a magnetic
field TerhId &IFTd SaeiedT fdeg[d YaTe g AvTm=
HERRIR

(C) on a current carrying conductor kept in vacuum
EFIAA Sacied fagld aTe dTge AUTRIT e aeiar
(D) on a current carrying conductor placed in liquid gd

el Sacied fagld vare q/§-1 AU hS e

(A) Direction Of Rotation J¢2r= fgerm
(B) Direction Of Flux YaTert fgam

(C) Direction Of Emf | Emf gt faam

(D) Direction Of Torque ciddt fgomm
Ans:C

7. According to the right hand cork screw rule, the
direction of the magnetic field is shown by which of the

following? 35TcAT ETATA Bl EpAT AIATIAR, Yeb i
e=Telt fRm Aretiertds! BIoTIgR GRffddt sta?

(A) in the same direction as the movement of the screw
&P gTeteel o el

(B) in the direction of screwing | screwing =T fg2
(C) in the direction of rotation of the screw /‘\v‘;‘lg_tm

Ans:B ,\‘1, IGHE "1/,\
/\QD C'\?D) in the direction perpendicular to otation of the
4. According tp\fﬁémmg s left hand rule, the dlrectlon;{r[, screw &P AT fGH & HE\‘Q,D‘
the force |b@hcated by________ . qﬁfﬁﬂwambO Ans : C C)
ETarAn ot faer ____ gﬁaeﬁ:{rﬁaﬁ. 4®
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